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Please check that this question paper contains 34 questions.
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Please write down the serial number of the question in the answer-book before attemptlng:
: it.
() 5 momuE @) UG & U 15 fAeie BT FEY 1391 T § | Tt U BT [AeRUT:
gaﬁ;'#mﬁ g5 1a5ar SmmeeT [ 10.15 &5 F 10.30 as?aaswsréa?aﬂsaasraﬁ'

ggal 37T § 3raler @ §IkreT 3 362 GiFrasT U i Fue a7g] ezl |

15 minute time has been allotted to read this question paper. The question paper will be:
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the:
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=T 3397 :

FHETITRET 145911 @1 a5 TIae] & qigq 37k 37T Gl & 9Ierd Il :

(i) 37 J97-97 4 34 397 & | @t 397 srfAard & |

(ii) T8 Jo7-97 Y7 7 [F91ford 8 — 9T & T9T A E |

(iii) 97T & G4l TGN & 170 SHard & |

(iv) 9T & 4 3 [@d%ey 8 79iq — (1) & [Fawn &7 favaye, a9ar (2) sl
TGIHT | TN B YT & § I 1999 & AR I Tk & [dhcq & Fod &
I forad & 1

(v) ¥97 G&gT1 G 16 9727 G 30 TF Uh—TUeh 3 & 97 3 |

(vi) 99 G&I7 17 @ 20, 31 TI7 32 T AT—AT 7% & Jo7 & |

(vii) 99 G&I7 21, 22 TUT 33 T TAR—-TR HH| & T97 & |

(viii) I97 G&T1 23 G 26 TIT 34 TF B:—T: bl & FH & /

(ix) ¥o7-Y7 & Gug f@d&eq 787 a7 7r 8 | I, vab-vas 37 & 7 Yo 4, diT-diT
3Hl & 2 oIl H, AR-TN 3H & 1 J97 § 797 B:—T: IHl & 2 Jo1 7 ks
faheq 7 =7 1397 97 8 |

WTT 6
(TTSe Wt quT SOt o o erRaieT)

1. () UH R A T 10 T¥P & 400 I 1, o9 W T 8 Ui 331 Iitaa
foram T o, = 2 9faq 3191 S AW ArEAT AR BT PTAE T HE T EO
T T | 39 ST o BT WS Yl @Id o AW 9 H @Al

GiTQTﬁ : 1
(a) T 4,000 (b) T 800
() ¥3,200 d) = 2,000

HAAAT

i) Ut fafies 9 T 10 3@ & 700 3N &1 e 10% Hfimm w
frifa foean e, = 5 gfa ow (fftrm wiga) &t smeaed Ty qen
T 3 Td 39 hl YoM TF Al Jr=AT URT 1 PTAE T it T FO B
foram | 7 37en o FOT WS FI @I o ST 9 § WAl h A 1

(a) T 7,000 (b) T 1,400
(c) T 4,900 (d) T 2,100
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B

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper is divided into two parts — Part A and Part B.

(iti) Part A is compulsory for all candidates.

(iv) Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

(v) Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
(vi) Questions no. 17 to 20, 31 and 32 carry 3 marks each.
(vii) Questions no. 21, 22 and 33 carry 4 marks each.

(viii) Questions no. 23 to 26 and 34 carry 6 marks each.

(ix)  There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A

(Accounting for Partnership Firms and Companies)

1. (1) A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of

these shares, ‘Share Capital’ account will be debited with : 1
(a) T 4,000 (b) ¥ 800
(c) T 3,200 (d T 2,000

OR

(i1))  Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of ¥ 5 per share
(including premium) and first and final call of ¥ 3 per share. On
forfeiture of these shares, ‘Share Forfeiture Account’ will be

credited with : 1
(a) T 7,000 (b) T 1,400
(c) T 4,900 (d) T 2,100

67/1/3 ~~—~~ Page 3 P.T.O.
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2. WA W Th BH H FEHER I AT 7 : 1 FJIG H ATH-FIH 1 fa9ToH Hid
g | F J YAk fqHTEl & IRH H T 12,000 hH Tk Hivaa Tl &1 M8t
ToRaIT | T80T W 6% aTfieh o @ =TS THTNG foha ST 8 | 99 o 370 | S8

T SIS ARG shi hl UsHH=T gfdfse gl 1
(a) AT YU I WAl T 1,800
‘o’ <1 YSil Qrdl ¥ 1,800
(b) 3T W N WAl 9™ T 1,800
%’ <1 =Te] W Z 1,800
(c) & T YSit @IaT 4™ T 1,800
S IURC I IS RG] Z 1,800
(@) - fafse @ ™ T 1,800
JTET W S Gl Z 1,800
3. () Ufga fafies 3 T 100 99 & 2,000, 9% 9= &1 A T 95 Tfd
OIS R fRIAT | 9% RO @Td & STHT 9 | Wil 1 I 1
(a) ¥ 1,90,000 (b) = 1,10,000
(¢) = 2,00,000 (@ = 10,000
JqeraT
Gi) T=faRaa & 9 -9 H2F or@T 82 1

(a) ROl W IS Ush 99N B, fafees 7= |
(b) RO bl &g W Tifera fomam < Tepat B |
(c)  RUTIALTHET bl A1 &3 T SR TaT 2 |
(@ KOG bl AN | uialda TE TR S wekar |

4.  IYFYT(A): TG T 3 i g |

HRI(R) : Tfd wiosy d mfer Tumer ol & Afaics wiet A %
Trey H T %H i gfiss 1 9o B |

frafafaa & & @t faseq =1 =9m Hifw . 1
(a) A (A) FE B, Tg HRV (R) Terd @ |

(b)  3THT (A) TeAd 8, T HROT (R) TE 7 |

(c)  3AfTHeE (A) AT HRU (R) IHT T&l & |

(d) MR (A) 991 HRW (R) SHI Tad 8 |

67/1/3 ~~~~ Page 4
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2. ‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7: 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each
quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a) Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. < 1,800
To A’s Current A/c < 1,800
(c) A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800
3. (1) Rohit Limited issued 2,000, 9% Debentures of T 100 each at ¥ 95
per debenture. 9% Debentures account will be credited by : 1
(a) < 1,90,000 (b) ¥ 1,10,000
(c) T 2,00,000 (d) ¥ 10,000
OR
(i1))  Which of the following statements is incorrect ? 1

(a)  Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.

(c) Debentureholders do not have voting rights.

(d)  Debentures cannot be converted into shares.

4, Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits. 1
Select the correct answer from the following :
(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.
(c) Both Assertion (A) and Reason (R) are correct.

(d) Both Assertion (A) and Reason (R) are wrong.

67/1/3 ~~~ Page 5 P.T.O.
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5.  ®H % foged & gwy ffafad & 9 fore aeelt @1d # swarara fopam Smerm 2 1
(i)  gfey o & fw g™

(i)  GTE 1 R0
(Gii) GH= 9=
(v) IIfd

(a) ()3 @{v)
(b) (), (i) AT (iv)
) (), (iii) AT (iv)
@  ®, (b, (ii)

6. AT qAT ST Th HH H HIHGR & a1 2: 13k A H Al i fawrsH

@ | e w1 @i # % wT % fw e A Ew R T | stem 3 e
2 1

| S W SAf&rar & e 3 T ST | oo | feqar, STgemT an sierd

T AT AT AU B 1
(a) 3:2:4 (b) 4:3:2

(c) 2:1:1 (d) 4:2:3

FHeleriaa Hreqi4e 1Cfd &1 96T T91 399 &1 T8 a1 & YR T 397 &1 7 797
8 @ I T :

ShiardT, Gl daT WY Th ®H H AeiGR off qon 39eh! ISt hu: T 6,00,000,
T 4,00,000 TAT T 2,00,000 o | G5t W 10% T G & S & o q99Tq.
AT} o1 favTe 9 TehR 4 o

EACK] % qT, i % T AT 7Y % T | shiddt 3 SARATT 9 § TR <
fop @t # =foar w1 9w IS W AN 9IRGB o g fRET oft 9§ |

T 1,00,000 & 7 T BT |
St W S UG i ¥ 99 31 W, 2022 I GHE T 9Tl 99 H A
T 3,00,000 T |
7.  Gfadr &1 1 H 9qE TE 6B Ui @ w9 oo 1
(a) T 40,000 (b) T 70,000
(¢ T 20,000 (d ¥ 10,000
67/1/3 ~~—~ Page 6
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5. Which of the following will be transferred to Realisation Account at the
time of dissolution of firm ?

(1) Provision for Doubtful Debts
(11) Partners’ Loan

(111) General Reserve
(iv) Goodwill

(a) (1) and (iv)

(b) (1), (i1) and (iv)
(¢c) (1), (iii) and (iv)
(d (@), (i1) and (iii)

6. Akshita and Anurag are partners in a firm sharing profits in the ratio of
2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be :
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 d 4:2:3

Read the following hypothetical situation and answer questions number

7 and 8 on the basis of the given information :

Kavita, Savita and Madhu were partners in a firm with capitals of
< 6,00,000, ¥ 4,00,000 and < 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :

Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be

less than ¥ 1,00,000 in any year.

The profit for the year ending 315 March, 2022 amounted to ¥ 3,00,000
before providing interest on capital.

7. Savita’s share of profit is short of the guaranteed amount by :
(a) ¥ 40,000 (b) ¥ 70,000
(c) < 20,000 (d) ¥ 10,000
67/1/3 ~~~~ Page 7 P.T.O.
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8.  WH % Pl Wl ! TR I T 1 THEISH T o =T ATigi A T
foparm st 1
(a)  hiadl T 60,000, Fladm T 40,000 TAT 7Y T 20,000
(b)  Hfaal T 50,000, Ffa@r T 1,00,000 a2 7Y T 30,000
(c) hfadl T 60,000, Ffadm T 90,000 TAT 7Y T 30,000
(d) faar T 60,000, Ffa@r T 1,00,000 92T 7Y T 20,000

9. TN, | qYT A Th BH H HIRIGR & qAT 4 : 3 : 2% UG § Al I
favsH *d & | 9 9aTHga @ TR0 YT Se el STevEesh aHiSHI,
ufrafet o qTeieh 9 AAIStt o AR & uvErg 39 dSit @Id 1 99
T 4,00,000 ® | TG qm AT 38k g b qui fueH H 38 T 4,60,000 H
WTAH i o TIC gHd 21 T | | 31 HaTH-ea = % hl ST | 3Heh1 |

2 1
(a) T 20,000 (b) T 60,000
@ T 1,80,000 (d) T 1,20,000

10. 39, YR AT ASHTS AIBIGR & 1 3:2:1 o U § i &l foums
FA 4 | 1 JAE, 2022 FHI AN BH  HAHII B T | AT
Tarfgfa &t fafy w feafa foawor smv-aft @d & 9@ 95 § T 1,20,000
AT AT T 97 | AT hl &F THERT AT AT Hd THT 39 AT BT S0
fopar St 1
(a)  3THA QAT STYR o YSit @Il o AW 98 H YU A19-fIo== oqama | |
(b) 3T, YR AT AT o Yoit @i o A9 98 H A ov-fau=

IUE T |
(c)  3TFH qUT YR o Yol WAl < ST 981 H ¢ AH-fIwTsH 7gama # |
(d) 3T qAT STYR o YSil @Il o AT 98 H Ik AT STIE H |

11. () O, Y qAT IR Th BH H ATSIGR & AT 4 : 3 : 1% A § ATH-FIH
fawrsH i o | 1 faaesy, 2022 61 @ K 9g B TS | FF g H
fafsr st wH & @t hi TOET T 80,000 H TS | Y ATH ok W R
AT e Sire 1
(a) Y-8 @Td o 9™ 98 § T 40,000 <hl Gt i |
(b) AYH-BIH i~ @rd & 9™ 98 § T 40,000 i G e |
(¢) HATH-IH 3=fd @WId o 99 987 § T 80,000 sh W *hish |

(d) ATV SEfd @Td & 919 987 § T 40,000 hH G b |
HAAT

67/1/3 ~~~~ Page 8
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8. The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as : 1

(a) Kavita ¥ 60,000, Savita ¥ 40,000 and Madhu < 20,000
(b) Kavita ¥ 50,000, Savita ¥ 1,00,000 and Madhu ¥ 30,000
(c) Kavita ¥ 60,000, Savita ¥ 90,000 and Madhu T 30,000
(d) Kavita ¥ 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

9. Gaurav, Sonu and Anita are partners in a firm sharing profits in the
ratio of 4 : 3 : 2. Sonu retires and the balance in his capital account after
making necessary adjustments on account of reserves, revaluation of
assets and re-assessment of liabilities is ¥ 4,00,000. Gaurav and Anita
agreed to pay him ¥ 4,60,000 in full settlement of his claim. Sonu’s share

of goodwill of the firm, on his retirement is : 1
(a) ¥ 20,000 (b) < 60,000
(c) T 1,80,000 (d < 1,20,000

10. Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the
date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount
payable to Avinash, this balance will be transferred : 1

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d) To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

11. () P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15* September, 2022. On the date of
P’s death, the profits of the firm were calculated as ¥ 80,000. P’s
share of profit will be adjusted by : 1

(a)  Debiting Profit and Loss Account with ¥ 40,000.

(b)  Debiting Profit and Loss Appropriation Account by ¥ 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with I 40,000.

OR

67/1/3 ~~~ Page 9 P.T.O.
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(i) g9, i qen AT UH BH U WEER ¥ 997 3:2:1 % YW H
ATH-ZTH T Ta9TSH d o | o1 HaTHgd &l 715 3TR 3HehT HFT HiaT qen
AT g Iustser foram man | Har qen 1fHar o1 Ju o favreH

343‘41?[@’1’[: 1
(a 2:1 (b) 7:5
(¢ 1:1 (d) 3:2
12.  3TRaa YSf o1 98 v 518 ot haet THE o 99Y & BT 8, hedrdi g ¢ 1
(a) STt el
(b) T goit
(c) Trifa 9h
(d | gsht

13. 37 3R 9% Tk BH H HECER 8 | 3 4 1 A, 2021 I BH h
T 6,00,000 T KT {1 | TR HIg TR Toi@ &l AT | 31 AT™, 2022 i

A R0 R A 91 =1t <kl = Tfsy a1 geher o 1
(a) < 36,000 (b) < 18,000
© T 9,000 d) T 27,000

14. () &7 qon i1 o wH ° EEeR 7 | 31 AT, 2022 i @A ¢ 9N H,
T 3 IS WIE k T H T 10,000 Ufd HIE T SR fRIT R
TN YT ST 6% aTfNeh &L & YT foharm ST o |

31 AT, 2022 %! FET gL a4 H 1 % M@ T A BAT 1
(a) T 3,900 (b) T 325
() T 3,600 @ T 3,300

JTqaT

(i) ~ fowm deT STRM UH ®H H WIFER € | 31 W, 2022 1 HAIG gC 99 H
AT 3 ek fmmel % 31=d W T 1,000 T AR fRAT § | ST W

TS <hY MUET <h1 3Ed 3ty g 1
(@) 6WE (b) 4% I
1 1
67/1/3 ~a~~ Page 10
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(i1))  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita

and Anita will be : 1
(a) 2:1 (b) 7:5
(c) 1:1 (d) 3:2

12. That portion of the uncalled capital which is called only in the event of
winding up of the company, is called : 1
(a)  Called-up capital
(b)  Uncalled capital
(c) Issued capital
(d)  Reserve capital

13. Aman and Chaman are partners in a firm. On 15t July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.
On 315t March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) ¥ 36,000 (b) ¥ 18,000
(c) < 9,000 (d T 27,000

14. (1) Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000

per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per

annum.
Interest on Neena’s drawings for the year ended 315t March, 2022

will be : 1
(a) T 3,900 (b) T 325

(c) T 3,600 (d < 3,300

OR
(i1))  Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.

Interest on drawings will be calculated for an average period of : 1
(a) 6 months (b) 4% months
(c) 7 % months (d) 6% months

67/1/3 ~ N~~~ Page 11 P.T.O.
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15. foeht fafies 9 T 100 T =1 s 3, 5@ 209 Hiftew w Frifaa foman m
o1, T 30 Wi TR hl YW AT 99T T 10 Tid 379 <l | AT=HT BT YITaH
% W, WO R T | =Ead qod N8 W 39 ST ol QA foRan S

Hohdl 3 : 1
(a) T 40 b)) T 60
e T 20 (d T 100

16. () offear fafiee 9 T 4,70,000 i g IREH= % HA oI a&a
T 5,00,000 % qUT Y& 37T 1 fEA foRam | = 30,000 % 29 i @A
I i< - N - 1 eu 1
(a) AT, 99 9&
(b) IS T==, AW 9
(c) ST &=, ST 9&
(d) W= =, ST 9

AT

Gi) WU fafes 9 gya fafies &t £ 12,00,000 1 afweafei qen
T 4,00,000 T FATRA HI T 9,00,000 % HT oI T ARG HE hH
TEafd & | oI 1 PTAE T 100 T&H & 11% FOEHAT 1 10% o8 T

Tt =tes g o1 | i fopu T sroTaE By g B 1
(a) 9,000 (b) 10,000
© 8,000 @ 11,000

17. o, H GA1 AN Uh BY H ATRER 9 9T 3 : 5 : 2 % AU H ATY-gIH
fawfoa e 9 | 1 319, 2022 HI HH TG & T8 | GHHEATRA, BTG a
T i 3Tfe & Fafa ot SHRISHI 1 S o I9ETq Yadl adT TR o YSi
@rdi § A T 3,00,000 94T T 1,00,000 T ST Y o7 | I8 i foram mam 6
TOIAT TUT AT <hT YSHt bl 3ok I ATH-TIWToM 37U § FHmEitea foham S |

IS URMET A 31T AR HE hl 39Tk U= Tfafsear hifsu |
39 w1 ol TIC ®Y T TIMST | 3

67/1/3 ~~~ Page 12
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15. Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per

share. The minimum price at which this share can be reissued is : 1
(a) T 40 (b) % 60
(c) T 20 (d ¥ 100

16. (1) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of T 4,70,000. The balance of T 30,000

will be to account. 1
(a)  debited, Goodwill
(b)  debited, Capital Reserve

(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(11) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
T 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be : 1
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

17. Shweta, Meenu and Asha were partners in a firm sharing profits and
losses in the ratio of 3 : 5 : 2. Meenu retired on 15! April, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profits, etc., the capital accounts of Shweta and Asha
showed credit balance of ¥ 3,00,000 and ¥ 1,00,000 respectively. It was
decided to adjust the capitals of Shweta and Asha in their new profit

sharing ratio.

Pass necessary journal entries for bringing in or withdrawal of the

necessary amounts involved. Show your working clearly. 3

67/1/3 ~~~ Page 13 P.T.O.
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18.  Gifian, <iur, 311 aUT AfeTd Ueh U T WIEIGR 9 AAT 3:2: 4 : 1 % I H
ATY-BT bl TS otd o | 1 3T, 2022 8 38 ATHBM ol 5:1:2: 2
% uTd | fawifora e &1 ol forn | gm0 fafa =& w0 6 @nfa &1 geame
T 5,20,000 fRIT AT AT YEaeRl H T H@EE T 1,00,000 €M TET AT |
3T Al o ToTu. 3rawares Ustama=n gfafseat i | 3709 &R &l o &9
g IS | 3

19. (%) UTigw fafiRs 3 T 10 9¥% & 1,00,000 M 1 10% Hifm =
Afiee & fau sar =i frifi fopan | wegel ofSr smaeT w e off |
3,00,000 3= % AU HEeT UH gL qo1 Sre A FuiE forn foh &
STYTIET ! AT SATIR T 3T T ATeH L T 1T |
e fAafide i geashl H IR oAl o fofT STewdeh  USHIE
gfafseat $ifsm | 3
arerat

(@) e fafies 3 w@mt fafiees 1 T 60,00,000 i afwrafeai qen
T 10,00,000 I AT T 45,00,000 % T oI T o+ i FgAM & |
TR 1 PTaE T 100 T&H b 10% TGN Sl 25% Hiftem w fifra
ek TehaT ST T |
vad fafiRe & geas & ST oHedl & fau ofawas UsHm
gferfseat shifee | 3

20. (%) 131, 2022 ! AT qAT HIEE hH BH h gSit T 1,50,000 7 | TG
ISt W Y™ W A X 10% 8 | BH % e W T 23,500 B |
AT o fIH I P HIT b AR W B <l ©ATfd Sl T0FT HIfST | 3

AT

(@) &a qen Afcieh Toh H H TSGR & q91 4: 1 % I H ATH-EIH 61
fauem *td & | 1 31, 2021 1 IThI IS HAM: T 1,20,000 AT
T 80,000 off | 1 TG8FR, 2021 ol 3= Mo fofam foh ®H <l et ISl

~

T 3,00,000 Bt e fow 36 g1 2:1 % oUW § AreH fea

SITE |

ATEH Toi@ o THR, ATEIGRI I 6% TN & & Yoit W A e

STa |

31 HT=, 2022 I THE B dTcl 98 H Yol W T S a1er A <l T0MET

ity | 3
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18. Sangeeta, Deepa, Ajay and Lalit were partners in a firm sharing profits
and losses in the ratio of 3 : 2 : 4 : 1. They decided to share profits and
losses in the ratio of 5 : 1: 2 : 2 with effect from 15t April, 2022. On this
date, the goodwill of the firm was valued at ¥ 5,20,000, General Reserve
appeared in the books at ¥ 1,00,000.
Pass necessary journal entries for the above transactions. Show your
workings clearly. 3

19. (a) Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the
books of Annex Ltd. 3

OR

(b) Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase
consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of T 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited. 3

20. (a) On 15t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the
firm based on three years purchase of super profits. 3

OR

(b)  Rakshit and Malik are partners in a firm sharing profits and losses
in the ratio of 4 : 1. On 15! April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

According to the partnership deed, interest on capital is allowed to
the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022. 3
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21. 9 fafide Hi AHa IS T 40,00,000 7 A T 10 TAH & GHAT 0
fowfsa 2 | 9 3 80,000 331 W1 Fifia i & fofu 3taed mmwEbBEa foeu |
78,000 3T % oY (e WH B | @ AN W1 Gl TS qUT kAo
1,500 3T W T 2 Ui 3730 <hl 999 o 3FqH Ir=FT TR bl Bt Tt Tisn
TTH 8 TS | 39 3130 hT 8101 oY ot T |

(%) ol fafm, 2013 & ST III, 9W I o AR Sl & foIfd
foator # “orer ¢Sl I qEIiSy |

(@) =t % fou @rdl % A |t dan i | 4

22, gR, <ueh 9T Tl UH BH T ATEIGR o qAT 2: 2 : 1% AU B ATH-FIH I
foamem *td 9 | 31 7, 2022 it 3 fEufa foawer e yer @ o

31 UT, 2022 i MR, Eiueh qT Tat a1 feerta foeron

N ﬂf{ e ufr
ISEALS 50,000 | W Td wed 2.,10,000
= T 1,00,000 | =<t 1,90,000
EQy| 1,20,000 | ¥k 30,000
g faw 1,70,000

g 1,60,000 fogma= 3=fa @@ 1,20,000

[EED 1,50,000

T 1,40,000 4,50,000

7,20,000 7,20,000

30 S, 2022 W GER I g 7 TS | HEIGR hHI I W AR dor@ § e
T WG o :

(i)  H I TN P Yo WS IR dui o 37{d @, s T 1,80,000
%,552% N1 o ShT o IMYUR R foram STam |

67/1/3 ~~~ Page 16

Get More Learning Materials Here : & m»/ @&\ www.studentbro.in



21. Tanay Ltd. has an authorised capital of ¥ 40,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 80,000
shares. Applications for 78,000 shares were received. All calls were made
and duly received except the first and final call of ¥ 2 per share on 1,500

shares. These shares were forfeited.

(a)  Present the ‘Share Capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.

(b)  Also prepare ‘Notes to Accounts’ for the same. 4

22. Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315' March, 2022 their Balance Sheet

was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022

Liabilities Amount | o sets Amount
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement 1,20,000
Suspense A/c S
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000

Sudhir died on 30t June, 2022. The partnership deed provided for the

following, on the death of a partner :

(1) Goodwill of the firm was to be valued at 2% years purchase of

average profits of the previous four years which were I 1,80,000.

67/1/3
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(i) T 1 Tl qoh AW A¥aT 1 H G o6 AET I 0T Tk o STTER
W JE@h | 31 7, 2022 S GHE B9 a1 o8 A fosea h afy
T 4,00,000 off TAT 1 T, 2022 ¥ 30 d 2022 Tk ToRd hT TR
T 1,50,000 ot | 31 e, 2022 ! FHH BT oW H AW T 1,00,000
o |

(iii) ST T 7% a6 G E AN T @ |

e o6 TIoa1Geh! vl g o fIT 3eRT IS @ dam it | 4

23. (F) Ja qA IR TH BH H AR I qAT 3 : 1 % JJU H ATH-FIH I
foumem &t 9 | 31 9, 2022 i 3T fRafa foawor 1 ger o
31 WT=l, 2022 i Ja qYT R @1 feaufa faawor

TR 41,000 | 99 Ug O 60,000
QU= =" 80,000 | Wa 40,000
e = 12,000 | e 60,000
g ik 50,000
RC| 79,000 G I8 38,000
Ei 48,000 197,000 | 7 : TITE X s
= o g@Em 4,000 34,000
Uhs 16,000
2,60,000 2,60,000
1 3794, 2022 1 I8 ATH | 1 T o foTu 9 31t W 997 6l BH |
4
Elﬁ‘ﬂ ﬁzﬂ :
(1) I AR Yoil qAT 39 HIT o @AM R &6 T 4,000 TG
AT |
(i) a1 AT T 68,000 foham T |
(i) &I TE AR W 10% oIS IR ST |
qHcATeh @Il a1 |IBIGRI 9 YSil @Td daR hig | 6
arerat
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(i1))  Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30t June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.

(iii) Interest on capital was to be provided @ 7% p.a.

Prepare Sudhir’s capital account to be rendered to his executors. 4

23. (a) Yuv and Veer were partners in a firm sharing profits and losses in
the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was
as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022

Liabilities Am;unt Assets Am;unt

Creditors 41,000 | Plant and Machinery 60,000

General Reserve 80,000 | Building 40,000

Outstanding Expenses 12,000 | Investments 60,000

Capitals : Stock 50,000
Yuv 79,000 Debtors 38,000

Veer 48,000 | 1,27,000 | Less : Provision for

Doubtful Debts 4,000 34,000

Cash 16,000

2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

(1) Yash will bring in proportionate capital and ¥ 4,000 as his
share of goodwill premium in cash.

(i1) Investments were valued at ¥ 68,000.

(iii) Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts. 6
OR
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S35
(@) 791, STYSHH T §9A1 Toh HH H AIEIGR 9 GAT 5 : 3 : 29 4T
ATY-ETH o1 faueH wid 9 | 31 7, 2022 &1 39 fefa faeror =
b AT .

31 UTH, 2022 Y T, ATIEHT qeT A w1 fearfa ferawon

N rfi N TI'ST
fafay der 2,20,000 | Uhe 1,60,000
qH= 9= 1,20,000 | TeR 1,80,000
| =T : "iey =l
' foQ gT@g™ 20,000 1,60,000
foIk 6,00,000 ik 2,00,000
AYHE  5,00,000 EENiE] 6,00,000
a1 3,00,000 | 14,00,000 | ¥+ 4,00,000
REE 1,20,000
ATH-BT @1 1,00,000
17,40,000 17,40,000

Ik fafer sl AT Qe & e R e W) weAfd g

(i) W HATHgRd W SH i A1 B e T 12,00,000 TR
T |

(i)  TISHM qAT A=A AT § Wi &1 9o 2 : 3 & A |
H4T |

(iii) T 40,000 h Teh ATTRIA THGR T Th@l fohaT T |

(iv) ¥ 30,000 % TIGRI @l Tad RO o &4 H AfIRgd L e
ST |

(v) L9 S QT T T FEATR0T 39eh 0T @Td § L fem = |

HH T &l H ITYTH AT o 1T, AT UeHH=T Tafsai it | 6
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(b)

Reyansh, Aayushman and Sabhya were partners in a firm sharing

profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at

315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities 2| Assets e
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
. Less : Provision for
Capitals :
Doubtful Debts 20,000 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 | 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000

67/1/3
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Reyansh retired on the above date and it was agreed that :

(1) Goodwill of the firm on Reyansh’s retirement was valued at

T 12,00,000.

(ii)  Aayushman and Sabhya will share future profits in the ratio

of 2 : 3.

(111) An unrecorded creditor of ¥ 40,000 will be taken into

account.

(iv)  Debtors of T 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his

loan amount.

Pass necessary journal entries for the above transactions in the

books of the firm.
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24, MG TR AT Th HH § AIHCR 9 AT 3 : 29k AT H ATH-FIH o1 foHTSH=
A ¥ | 319, 2022 1 ITh1 fefd foawor = g o

31 HT=l, 2022 h1 ATIAIT qAT =TT A1 Tearta feramo

AER 90,000 | % T ks 20,000
Syt aATfesT <1 O 30,000 | Tieh 24,000
SIS hT 3R] 30,000 | et 30,000
= g9 45,000 | STeR 20,000
‘Fﬁ . ol : ‘v'iﬁ‘?if Eauiicy
' U y@a™ 2,000 18,000
et 1,00,000 L DF| 1,00,000
SRIN 97,000 | 1,97,000 | fasimam 3=fa @ran 2,00,000
3,92,000 3,92,000

31 AT, 2022 =l HfIRad 3|t W B b1 fo=e & i
() TR ¥ T 17,000 H FEA g8 o GIF H [Eqh qod § 10% Ak

e T |

(i)  offew 7 sfiudt oTfey = U1 H PIAH HH H1 dTer BT qAT Wik H
T 20,000 " & o |

(iii) ST 9 3y o™ 10% ¢ W o T | 9w fyasn & = 4,500 H1 It
T |

(iv) TFERI &1 YT 10% 2 T T fean = |
(v) o 3 T 7,000 9 |
A @I R HIT | 6
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e

24. Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as
follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022
A t A t
Liabilities moun Assets moun
< 3T
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals :
Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh ~ 97,000 | 1,97,000 | Advertisement Suspense
account 2,00,000
3,92,000 3,92,000
The firm was dissolved on 315t March, 2022 on the following terms :
(1) Debtors realised ¥ 17,000 and plant realised 10% more than the
book value.
(i1))  Aadish promised to pay Mrs. Aadish’s loan and took away stock at
T 20,000.
(iii) Shreyansh took away half of the investments at a discount of 10%.
Remaining investments realised ¥ 4,500.
(iv)  Creditors were paid off at a discount of 10%.
(v)  Expenses of realisation amounted to ¥ 7,000.
Prepare Realisation Account.
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25. (@) T ofifcafoai o omli & &1 w@ AR &t smavas UsHmE

yafseat i .

i) S H S AR I T 10 79 & 75 31 W+, e T 4 9fq e
fiftem W frifya b mm on, & 8 wfa ofw (Hfiem @feq) i
JATeSA TR T PIAH 7 HH W, FWOT R o= | T 4 9faq 131 i
Yo Td SAfa| IreAT i o1t "7 98 TS oft | &or fRu T ofu
I T 15 Tfd 3191 qUi Y g4 Fifa o feam |

i)  Thfaer fafies 3 T 50 ufd 71 & 1,200 3T *i, S w0 goo
X fifia fopem e, ¥ 10 wfa ot 1 SAfom Jm=qT 1 PIaW
T HE T, O R =T | FTH " 900 3TN T T 45 Tid A U1
Y& gH: fifia o= feen | 6

CPC)

(@) Yo Tafieg 3 T 100 I & 30,000 3790 1 20% i w fffia
ST o e e et fpw | ufa o191 Tfsr =1 gmam = &R &
éqQJT:

A W — T 40 (T 10 Hfrm =fza)
3Mee W — T 30 (T 10 Nfm |fza)
Yo I W — T 30

feda wa stfaw am=mT @ -3

40,000 3 % AU @S Utd gL qAT 35,000 AT % IMEGH ol

TR STTee T TAT T | 3T TS i 3T eha L feam M |

IS W ITed ATANTR ST T FHRISHE 37eed W ¢ TR § =+ fen

T |

T, frE 700 31T % fofw Straed foham o, Sfreed Tfst &1 Jrae A

H 3TThA TG AR e o qd ITaTd 4 3T 1 &0 L form T |

3Geh F1¢ TUW ITEAT AT Mg AT T AT W < Al Uy wrd |

TS | fgedta T Afaw AreET & AW g |

gseht fIfiee i qeaehl H I9YH el & ol oraws UsHmd=n

gfafsar s | 6
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25. (a) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

(1) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of ¥ 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out
of these, 900 shares were reissued at ¥ 45 per share fully
paid-up. 6

OR

(b)  Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30
On second and final call — Balance
Applications were received for 40,000 shares and pro-rata

allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited. 6
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26. ff fafirg 6 gl d Fm=fafga oFeAl & fou ot & fra @ defia

AT USHTHET Tfafsedt ity : 6

(%) T 100 I & 3,000, 7% FOGA B 10% Hfem w frifa fea,
et snem 5% Mfrem W fohan s |

(@) T 100 T3 & 2,000, 8% TG I 10% Hifem w frifia foham,
et weq Tmeed W foan Smem |

() T 100 TS b 1,000, 9% T Dl 10% § W Tifwa fram, e
Mmed 10% Hftem W feren S |

R &
famew - 1
(Terirer feraromt =1 fergeiwon)

27.  Uhg YATg Toaur sA1d g0y HHfigd § 8 Si9-8 oedl o oy nifafatern
o IT=Td ST SITaT 1
()  9Har 3790 k1 e

(i) T ¥ Ut Uhe

(iii)  ZROTISAT T ML
(iv) IR ST o faeg Yrae foram T Tehg

g foaeheq &1 == SIS
(a) @

(b) (1) AT (ii)

(c) (1) dAT (ii1)

(d) (D), 1) dAT (iv)

28. () T=Afafaa o @ s wrfiew o 2 . 1
(a) IO ¥ M hl AN = TEeH 8 3T + Hehed ATH
(b) T § AN hHi ANA = JIR(EHh Wieh — g T + TI& =T
— 3faH Vi
(¢) TSI ¥ W hl AN = AT Tieh + AfaH i
(d) IO 8 TH 6 AN = T 8 3T — Hehed oTH

AT
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26. Pass necessary journal entries relating to issue of debentures in the
books of Shree Ltd. for the following transactions : 6

(a) 3,000, 7% Debentures of ¥ 100 each are issued at 10% premium,
redeemable at a premium of 5%.

(b) 2,000, 8% Debentures of ¥ 100 each are issued at 10% premium,
redeemable at par.

(c) 1,000, 9% Debentures of ¥ 100 each are issued at 10% discount,
redeemable at 10% premium.

PART B
OPTION -1
(Analysis of Financial Statements)

27. Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1

(1) Issue of Equity Shares

(ii)  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables
Choose the correct option :

(a) (@)

(b) (i) and (ii)

(¢) (i) and (iii)

(d (@), (1) and (iv)

28. () Which of the following equations is correct : 1

(a) Cost of Revenue from Operations = Revenue from
Operations + Gross Profit

(b)  Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses — Closing Inventory

(c) Cost of Revenue from Operations = Opening Inventory +
Closing Inventory

(d)  Cost of Revenue from Operations = Revenue from Operations
— Gross Profit

OR
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Gi) Trafafga @ 9 s e fewon & favcdwn 1 s Iushtur/ade

K 1
i g a8 forawm

(i) A-ETH feawo

(iii) @Tal = AeH

(iv) el foem

&l faeheq w1 =3H hHIfST
(a @

(b) ()3 (i)

(c) (i1

d @), () AR (iv)

29. Tfafad g=m1 @ ‘@i i’ & 1
1] IEFI T 20,00,000
e yiEE T T 40,00,000
STl IUT T 25,00,000
e 31U 25%
(a) ¥ 10,00,000 (b) ¥ 14,00,000
(¢) ¥ 24,00,000 @ ¥ 15,00,000
30. () U fo<i 3Tm gR g fohe TR AT Uk YaTE foat ST wHA
fr=faaa o @ foem nfafafr & srarfq smom 1
(a) ST Tdfaty
(b) T mfafafy
(¢c) forcfim nifafafer
(d &I (b) T (c)
T
(i) U AfT ¥ gry ot W It = Uehg aT8 foaror s a0
Frfafea # o foem nfafafe & st smom . 1
(a) Traw nfafafy
(b)  Tori Tidfate

(c) UATAA lll?liéli‘if
(d)  eH (b) TAT (c)
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(i1))  Which of the following is a tool of Analysis of Financial
Statements : 1

(1) Cash Flow Statement

(i1)  Statement of Profit and Loss
(iii) Notes to Accounts

(iv) Balance Sheet

Choose the correct option :
(a) (@)

(b) (i) and (ii)

(o (i)

(d (), (i) and (iv)

29. From the following information, the ‘Proprietor’s funds’ are : 1
Current Assets < 20,00,000
Non-Current Assets < 40,00,000
Long Term Borrowings < 25,00,000
Proprietary Ratio 25%
(a) < 10,00,000 (b) < 14,00,000
(c) < 24,00,000 (d) < 15,00,000
30. (1) ‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (c)

OR
(ii)  ‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise : 1

(a) Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c)
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31. Ut Afuf=m, 2013 i FE 111, Wt I % AR f=fefad Agi i ®ut
el foeRor § & 3fiveh] U1 IU-3MhI (TG IS &) o =G afihd HIvT : 3

(%) YShTd SR WG W
(@) AW I

() T AR

32. ‘g feufa faewor qun v foeor i faft vel & = Sfud gy wnfua
ok BH 6l oo drendl Ta HAFINET &1 g9 6 Ufshar 8 ) Ufskan I
g SHIfTT 9T TEH1 TS UfshAT % €1 329! T IgW@ T | 3

33. () TrfciRad =1 @ 9hcl AW ST hl TUMET HIfT 4

TheY (Tefeh) A AU : 6 T
e b9 (¥h) : T 4,00,000
HTA ! Toish! ARG W 25% A9 W I T8

AT

(i) Th HFIHT HT |G IHIE 2 : 1 ® | HRO W FU Ieor@ HifC fh
fAfctiad TGl | I8 STUId 9, M A1 $9H IS IR gl 8l @ 4
(a) ¥ 40,000 % AT I IUR A
(b) T 2,000 FTH T T 8,000 3 Hritex i foishl
(¢ TAURIT H T 15,000 i Thg WIfed

d ¥ 6,00,000 % FHAT 7 HT FE
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31. Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a)  Capital work in progress
(b)  Calls in advance

(c) Computer software

32. ‘It is the process of identifying the financial strengths and weaknesses of
the firm by properly establishing relationships between the various items

of the Balance Sheet and the Statement of Profit and Loss.” Identify the

process and state two objectives of the process identified. 3
33. (1 Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory . ¥ 4,00,000

Goods are sold at a profit of 25% on cost
OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables ¥ 15,000

(d)  Issued equity shares T 6,00,000
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34. fafafea wculie @ = gfer qor 39 smur W feu Uyt & I
A
2011 § ¢ JaT WRAT ITHAT, d9ielt wifean aun fades wifean & & Aas
3TEl TIeA TR i 1 (01T for | 30 99 SR | *is Y@ Raae 16t o
3R 3IBH 39 HHT I QU HE I T <@ | I8H Teh IqANThRd] HHAQUl
JeHTEe U HIETsd W9 ol YA fohan 8ok gra Swammehatsti @ fofu 1a9m™
hich R QAT MEE 8 T | 2018 H 38 SR soif fdAfHee’ wral | qiafdd
L T |
31 |, 2022 ! HrHT o Feferfga feafa foaor 9 “semem nfafafet @ doe
TaTg <hl TUET hIFT |
31 W, 2022 ! ‘&R gt forfiree’ 1 feafa feremon
- :ﬁz 31.3.2022 31.3.2021
g. T T
I - |HAT TS 3IaTG
1.  ITUAs$ Y
(%) 7= gait 9,00,000 3,00,000
(@) =g W@ AT 1 75,000 3,60,000
2. IR A
AREISIERER IS 2 2,40,000 1,80,000
3. e A
(%) SAUR T 18,000 60,000
(@) IRl Trae™ 3 2,04,000 2,10,000
E3 14,37,000 11,10,000
II - ufEvafT
1. IR aRewREt
Tt gttt 4 10,08,000 5,76,000
2.  =Tq REwfEt
(%) ik 3,54,000 3,87,000
(@) s Td Uhs el 75,000 1,47,000
E3 14,37,000 11,10,000
67/1/3 -~~~ Page 32

Get More Learning Materials Here : &

Coscrree €3

@ www.studentbro.in



34. Read the following hypothetical text and answer the given questions on

the basis of the same.

In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car

Easy Ltd.” in 2018.

From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
Total 14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
Total 14,37,000 | 11,10,000
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QTdi o A1ed :
Are 31.3.2022 | 31.3.2021
g. o T T
1 | 999 U Aiee
TR SAYTq ATY-gIH farawor &1 3w 75,000 3,60,000
75,000 3,60,000
2 | dederTel U
10% o9 2,40,000 1,80,000
2,40,000 1,80,000
3 | TR JE9™
EZICRIE] 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
EENIEE] 11,52,000 6,45,000
gfad qeag (1,44,000) (69,000)
e 10,08,000 5,76,000
AR G :
1) 10% o=t 1 e 81 |, 2021 i foham T |
(i) 99 % RME T 80,000 T T YTAM foha T | 6
R &
faweu - 11
(erfremfera wrEieRT)

27. <o fafte @l 9@ wfd Afwsl ol Tk 9) H ThANE fhan ST 8, d 98
HEATAT @ 1
(a)  ARTaeh THT TSHHUT
(b)  EHE TshHUI
(c) ATl defiemm
(d) TR qUT g deR
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Notes to Accounts :

Note . 31.3.2022 | 31.3.2021
No. Particulars > >
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.

1)
(i1)

27.

PART B
OPTION - 11

(Computerised Accounting)

shot, it is called :

(a)
(b)
(c)
(d)

67/1/3
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28. (i) AN AT A1 o IR H FIAT ITTd B b AT @R G 39 Sil
3= YAl € ST 83 Bl &, i H 2 : 1

(a) Uhg Ud Sk IUdH

(b) =TT AWThd 39dd

(c) TTd 39ad

(d) 3fag @rd 3udA
AgAT

(i)  $TYe 3ATehgl shi fohell T ATehgl | T i hl JfshaT HEaTd! & 1
(a)  IAThST SR

(b)  ATeher U
(c) T AThe
(d) WS 3Tihe
29. (i)  hIlSther3sM <hl ATkl aidl B : 1

(a) I igH i 3 o fow |

(b)  @Tal, SideieHi, 31Tfe sl FLed WA @ foe |

(¢)  AThel ol Miud W (WishwH) & fouw |

(d)  3hsl o IEH Uishav & foru, 3faq fepie W & fou |

HAAAT

(i) W8 G WGl hl Wl §gd H BIdl 8 q°T TR &HAT §gd
Atk Bl 8, 3T e & faw =fdifgd ¥ & SI9-91 dieasR Tohs
39Yh BT & 1
(a) ol
(b) I % AR (IAZ)

(¢ gHI fafsre wa 3o
(d) G
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28. (1) The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and

expenses is : 1
(a) Cash and Bank sub-system

(b)  Expense Accounting sub-system

(c) Costing sub-system

(d)  Final Accounts sub-system

OR

(ii)  The process of comparing input data with some unknown data is
called : 1

(a) Data validation
(b) Data entry
(c) Information data

(d)  Storage data

29. (1 The need of codification is for : 1
(a)  The generation of mnemonic codes.
(b)  To secure accounts, reports, etc.
(c) The encryption of data.

(d) Easy to process data, keeping proper records.
OR

(ii)  Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very

small and adaptability is very high : 1
(a)  Specific

(b)  Tailored

(c) Specific and tailored both

(d)  Generic

67/1/3 ~~~ Page 37 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



30. U ARV A(ARE 1UGT A 1 INUMH gl & : 1
(a)  <gcdd /T e
(b)  HYd TeA
(c) ToEY qed
d) &fS g
31. TIEHh HIFR Iofl o 99 H Wrdl o g ol a9zsy | 3
32, OISR 37ha (AHGT) i Y fafert i gaEmsy | 3

33. (%) ‘3AMhgl TEIU F1 2 ? Ueh U U 3ihg ol TwUd i & (o fopd

3IURTTTT <hT AT feharT STTaT B 2 HEATST | 4
srerat
(@) TG ARSI & TS ST hi T ST, | 4

34. UH AW % ‘TAHE Yo w1 F AL g ? FEhI AT H HERAT A a1 fof
Bl THIATSY | 6
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30. The outcome of an arithmetic expression or function is called : 1
(a)  Derived Value
(b)  Basic Value
(¢)  Vertical Value

(d) Horizontal Value

31. Explain ‘Group of Accounts’ with reference to Accounting software Tally. 3

32. Explain the methods of ‘voucher numbering’. 3

33. (a) What is ‘data formatting’ ? What tools are used to format a given

data ? Explain. 4
OR
(b)  List eight uses of accounting software. 4

34. What is meant by ‘Present Value’ of an investment ? Explain the

financial function which helps in its calculation. 6
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STRICTLY CONFIDENTIAL: (FOR INTERNAL AND RESTRICTED USE ONLY)

SENIOR SCHOOL EXAMINATION 2023
MARKING SCHEME - ACCOUNTANCY (SUBJECT CODE—055)
(PAPER CODE—67/1/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of
the candidates, education system and teaching profession. To avoid mistakes, it is requested that before
starting evaluation, you must read and understand the spot evaluation guidelines carefully
“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of
candidates. Sharing this policy/document to anyone, publishing in any magazine and printing in
News Paper/Website etc may invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own expression
and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first
day, to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme.
If there is any variation, the same should be zero after deliberation and discussion. The remaining
answer books meant for evaluation shall be given only after ensuring that there is no significant
variation in the marking of individual evaluators

Evaluators will mark( V) wherever answer is correct. For wrong answer CROSS ‘X” be marked.
Evaluators will not put right (v')while evaluating which gives an impression that answer is correct and
no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This
may also be followed strictly

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

1
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11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the answer deserves
it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines)

13 Ensure that you do not make the following common types of errors committed by the Examiner in the
past:-

Leaving answer or part thereof unassessed in an answer book.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and

clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as
cross (X) and awarded zero (0) marks

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each answer
as given in the Marking Scheme.
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MARKING SCHEME
Senior School Certificate Examination -2023
ACCOUNTANCY (Subject Code-055)
[ Paper Code: 67/1/3]

Maximum Marks : 80

EXPECTED ANSWER / VALUE POINTS
Q PART—A
No (Accounting for Partnership Firms and Companies)
1. | Q. (i) A company forfeited 400 shares...............
Ans (c) %3,200 1 mark
OR OR
Q. (i) Xyle Ltd. forfeited 700 shares...................
Ans (d) 2,100 1 mark
2. | Q.*‘A’ and ‘B’ were partners in a firm................
Ans (c)
A’s Capital A/c Dr. 1,800
To Interest on drawings A/c 31,800 1 mark
3. | Q. (i) Rohit Limited issued ...................
Ans (c) %2,00,000 1 mark
OR OR
Q. (ii) Which of the following.................
Ans (d) Debentures cannot be converted into shares. 1 mark
4. | Q. Assertion (A) : Goodwill is ..............
Reason (R) : Goodwill is the value of ............... 1 mark
Ans (c) Both Assertion (A) and Reason (R) are correct
5. | Q. Which of the following will................
Ans(a) (i) and (iv) 1 mark
6. | Q. Akshita and Anurag are partners................
Ans (d) 4:2:3 1 mark
Read the following hypothetical situation and answer.................
7. | Q. Savita’s share of profit................
Ans. (d) 10,000 1 mark
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8. | Q. The total profits of the firm................
Ans (b) Kavita ¥50,000, Savita ¥1,00,000, Madhu 30,000 1 mark

9. Q. Gaurav, Sonu,.................
Ans (b) 360,000 1 mark

10. | Q. Aman, Aadhar and Avinash were partners...............
Ans (b)

To the debit side of the capital accounts of Aman, Aadhar and Avinash in old profit sharing | 1 mark
ratio.

11. | Q. (i) P, Q and R were partners ...........

Ans (d) Debiting Profit and Loss Suspense Account with 340,000 1 mark
OR OR

Q. (ii) Pooja, Nita and Anita................

Ans (b) 7:5 1 mark

12. | Q. That portion of the uncalled capital...........
Ans (d) Reserve capital 1 mark

13. | Q. Aman and Chaman are partners..............

Ans. (d) ¥27,000 1 mark
14. | Q. (i) Hina and Neena.........cccccveeunaene
Ans (a)<3,900 1 mark
OR OR
Q. (ii) Vibha and Asha are partners.................
Ans (b) 4 %2 months 1 mark
15. | Q. Zinki Limited forfeited.................
Ans (a) %40 1 mark
16. | Q. (i) Akshita Ltd. issued..........c..c.......
Ans (a) Debited, Goodwill 1 mark
OR OR
Q. (ii) Maira Ltd. took over assetS........cccceveeenneee 1 mark

Ans (b) 10,000

17. | Q. Shweta, Meenu................

Ans
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Shweta(3) Asha(3)
Capital after adjustments 3,00,000 1,00,000 1
New Capital 2,40,000 1,60,000 +
60,000 60,000
To be withdrawn To be brought in
Books of Shweta, Meenu and Asha
Journal
Date Particulars L.F Debit Credit
Amount Amount
®) ®)
2022 | cash/Bank Alc Dr. 60,000
APIL 1 7o Asha’s Capital Alc 60,000 1
(Amount brought in by Asha) +
iy Shweta’s Capital A/c Dr. 60,000
To Cash/Bank Alc 60,000 1
(Amount withdrawn by Shweta) =
3
marks
18. | Q. Sangeeta, Deepa, Ajay...cceeevvnreneennne
Ans
Sacrificed Share = Old share — New share
Sangeeta
3/10 - 5/10 = (2/10) Gain
Deepa
2/10 — 1/10 = 1/10 Sacrifice
Ajay
4/10 — 2/10 = 2/10 Sacrifice
Lalit 1
1/10 - 2/10 = (1/10 ) Gain .
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Books of Sangeeta, Deepa, Ajay and Lalit

Journal
Date Particulars L.F Debit Credit
Amount Amount
®) ®)
20_22 General Reserve A/c Dr. 1,00,000
April 1 To Sangeeta’s Capital A/c 30,000
To Deepa’s Capital A/c 20,000
To Ajay’s Capital A/c 40,000 1
To Lalit’s Capital A/c 10,000 +
(General reserve distributed in old
ratio)
" Sangeeta’s Capital A/c Dr. 1,04,000
Lalit’s Capital A/c 52,000
To Deepa’s Capital A/c 52,000
To Ajay’s Capital A/c 1,04,000 1
(Goodwill adjusted on change in
profit sharing ratio ) =
3
marks
19. | Q. (a) Annex Ltd. issued................
Ans (a) Books of Annex Ltd.
Journal
Date Particulars L.F Debit Credit
Amount | Amount
®) ®)
Bank A/c Dr. 33,00,000
To Share application and allotment 33,00,000
Alc 1%
(Application money received on +
3,00,000 shares)
Share application and allotment A/c  Dr. 33,00,000
ToBank Alc 22,00,000 1%
To Share Capital A/c 10,00,000
To Securities Premium/ 1,00,000
Securities Premium Reserve A/c =
(Application money transferred to
share capital account, securities 3
marks
6
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premium  account and  excess
refunded)
OR
OR
Q. (b) Shovan Limited took over ...............
Ans (b) Books of Shovan Limited
Journal
Date Particulars L.F Debit Credit
Amount | Amount
) )
Sundry Assets  Alc Dr. 6,00,000 1%
To Sundry Liabilities A/c 10,00,000 "
To Swami Ltd. 45,00,000
To Capital Reserve Alc 5,00,000
(Purchased assets and took over liabilities
from Swami Ltd.)
Swami Ltd. Dr. 45,00,000 1%=
To 10% Debentures Alc 36,00,000
To Securities Premium/ Securities 9,00,000
Premium Reserve A/c 3
(Issued 36,000 10% debentures to Swami Ltd marks
at premium of 25% )
20. | Q. (a) On 1%t April, 2022, the capital...........
Ans (a)
Normal Profit = 10/100 x 150,000 =315,000
Average Profit =323,500
Super Profit = Average Profits — Normal Profit
= 23,500 - 15,000
= 8,500
Goodwill = Super Profits x Number of years’ purchase Y5 1+1+ Y
= 8500x3 +1
= 3 25,500 i =
3
marks
OR
OR
Q. (b) Rakshit and Malik.............
5
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Ans (b)
Calculation of Interest on Capital
Rakshit )
Interest on Capital from 1 April 2021 to 30 Nov. 2021
6/100 x 8/12x 1,20,000 = 4,800
Interest on Capital from 1 Dec. 2021 to 31 March 2022 1%
6/100 x 4/12x 2,00,000 = 4,000
Interest on Capital 8,800
Malik €9}
Interest on Capital from 1 April 2021 to 30 Nov. 2021 +
6/100 x 8/12x 80,000 = 3,200
1%
Interest on Capital from 1 Dec. 2021 to 31 March 2022 =
6/100 x 4/12x 1,00,000 = 2,000
Interest on Capital 5,200
3
(Note: Full credit to be given for workings shown correctly in any other manner) marks
21. | Q. Tanay Ltd. has an authorised.........
Ans
Tanay Ltd.
Balance Sheet (extract) as at .........
Particulars Note | Amount
No. | ()
I. EQUITY AND LIABILITIES
1. Shareholders' funds
a) Share Capital 1 7,77,000 1
+
Note to Accounts
Particulars Amount
®)
1. Share Capital
Authorised Capital
4,00,000 equity shares of 10 each 40.00.000
+
8
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Issued Capital
80,000 equity shares of ¥10 each 8.00.000 1
+
Subscribed Capital
Subscribed and fully paid-up
76,500 equity shares of ¥10 each 7,65,000 1y +
Add: Forfeited shares (1,500 x 8) 12,000 1y
7,77,000 =
4
marks
22. | Q. Sudhir, Deepak and Naveen.............
Ans.
Dr. Sudhir’s Capital A/c Cr.
Particulars ® Particulars ®
To Advertisement suspense A/c 48,000 | By Balance b/d 1,60,000
To Sudhir’s Executors A/c | 349,800 | By General Reserve A/c 40,000
By Deepak’s Capital A/c 1,20,000 %X 8
By Naveen’s Capital A/c 60,000 _
By Profit and Loss Suspense A/c 15,000
By Interest on Capital A/c 2,800
3,97,800 3,97,800 4
marks
Workings:
Sudhir’s share in Goodwill
=2/5x 1,80,000 x 5/2
=%1,80,000
Sudhir’s share in profits till death
1,00,000 x 1,50,000 x 2
4,00,000 5
= %15,000
Interest on capital of Sudhir
1,60,000 x 7/100 x 3/12
=%2,800
(Note: No marks to be deducted for not showing workings)
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23. | Q. (a) Yuv and Veer were partners ..............
Ans. (a)
Dr. Revaluation A/c Cr.
Particulars ® Particulars ®
To Plant & Machinery Alc 6,000 | By Investment A/c 7 8,000
To Profit transferred to
partners’ capital A/cs : 2
Yuv 1,500
Veer 500 2,000
8,000 8,000
Dr. Partners’ Capital A/cs cr.|”
Particulars Yuv Veer | Yash Particulars Yuv Veer | Yash
® ® | ® ®) ® | ®
ToBalance ¢/d | 1,43,500 | 69,500 | 71,000 | By Balance b/d | 79,000 | 48,000
1/2
By General 60,000 | 20,000
Reserve Alc
1/2
By Premium
for goodwill 3,000 | 1,000
Alc
By Revaluation 1,500 500 4
Alc
By Cash Alc /
Bank Alc 71,000
1,43,500 | 69,500 | 71,000 1,43,500 | 69,500 | 71,000
Workings:
Adjusted capital of partners 4
Yuv 143500 =
Veer 69500 6
Total 2,13,000 marks
Capital of the new firm 213000 x 4/3= %2,84,000
Capital brought in by Yash = 2,84,000 x1/4 = %71,000
(Note: No marks to be deducted for not showing workings)
OR

10
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OR

Q. (b) Reyansh, Aayushman and Sabhya .............
Ans. (b)
Books of Reyansh, Aayushman and Sabhya
Journal
Date Particulars L.F Debit Credit
Amount | Amount
(X) (X)
2022 | Aayushman’s Capital A/c Dr. 1,20,000
March 31 | Sabhya’s Capital A/c Dr. 4,80,000
To Reyansh’s Capital A/c 6,00,000
(Adjustment for goodwill in gaining ratio without
opening goodwill account)
" General Reserve Alc Dr. 1,20,000
To Reyansh’s Capital  A/c 60,000
To Aayushman’s Capital A/c 36,000
To Sabhya’s Capital Alc 24,000
(General reserve distributed among partners)
Reyansh’s Capital ~ A/c Dr. 50,000
Aayushman’s Capital A/c Dr. 30,000
Sabhya’s Capital  A/c Dr. 20,000
To Profit and Loss A/c 1,00,000
(Accumulated losses shared by partners in old ratio)
. Revaluation A/c Dr. 40,000
To Sundry Creditors Alc 40,000
(Unrecorded creditors taken into account)
" Bad debts A/c Dr. 30,000
To Debtors Alc 30,000
(330,000 written off as bad debts)
" Provision for doubtful debts A/c Dr. 20,000
Revaluation  Alc Dr. 10,000
To Bad debts A/c 30,000
(Bad debts transferred to provision for doubtful debts
and revaluation account)
" Reyansh’s Capital  A/c Dr. 25,000
Aayushman’s Capital A/c Dr. 15,000
Sabhya’s Capital  A/c Dr. 10,000
To Revaluation Alc 50,000

Yo

Yo

Yo
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(Loss on revaluation transferred to partners’ capital +
accounts in old ratio)

. Reyansh’s Capital A/c Dr. 11,85,000
To Reyansh’s Loan A/c 11,85,000 || 1
(Amount due to Reyansh transferred to his loan
account)
Workings:

Calculation of gaining ratio

Share gained = New share — Old Share

Aayushman Sabhya
2/5-13/10 3/5-2/10
=1/10 =4/10

Gaining ratio is 1:4

Amount to be transferred to Reyansh’s loan account
6,00,000+6,00,000+60,000 — 50,000 — 25,000 =
=%11,85,000 6
(Note: No marks to be deducted for not showing workings) marks

24. | Q. Aadish and Shreyansh.........

Ans.
Books of Aadish and Shreyansh
Dr. Realisation Alc Cr.
Particulars ® Particulars ®
To Sundry Assets: By Sundry Liabilities:
Stock 24,000 Creditors 90,000
Investment 30,000 Mrs. Aadish’s Loan 30,000
Debtors 20,000 Provision for Doubtful 2,000 | 1,22,000
Plant 1,00,000 | 1,74,000 | Debts
By Cash A/c / Bank Alc: Yo +1+
L . Debtors 17,000 1+ Y +
(Vrs. Aadish'sfoan) | 30000 | Plant 110,000
' Investment 4,500 1,31,500
1+ %
To Cash A/c/ Bank Alc:
Creditors 81,000 By Aadish’s Capital A/c
. 20,000
Realisation Expenses 7,000 88.000 | (Stock) )
12
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(Investment)

By Shreyansh’s Capital A/c

By loss transferred to Partners’

13,500(1]

Capital Alc:
Aadish 3,000
Shreyansh 2,000 | 5,000[%4 =
6
2,92,000 2,92,000 marks
25. | Q. (a) Pass necessary journal entries.............
(i) BCG Limited forfeited........
(i1) Geetika Limited forfeited......
Ans. (a)
Q) Books of BCG Limited
Journal
Date Particulars L.F Debit Credit
Amount Amount
(X) (X)
Share Capital Alc Dr. 450
Securities Premium/ Securities Premium
Reserve Alc Dr. 300 1
To Forfeited Shares Alc 150 +
To Share Allotment/Calls in Arrears Alc 600
(75 shares forfeited for non-payment of allotment)
Bank Alc Dr. 1,125
To Share Capital Alc 750 1
To Securities Premium/Securities Premium 375 +
Reserve Alc
(75 shares re-issued at I15 per share, fully paid up)
Forfeited Shares A/c Dr. 150
To Capital Reserve Alc 150 E
(Gain on 75 re-issued shares transferred to capital -
reserve) 3
marks
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(i)

Books of Geetika Limited

To Securities Premium/Securities Premium
Reserve Alc

Journal
Date Particulars L.F Debit Credit
Amount | Amount
(X) (X)
Share Capital Alc Dr. 60,000
To Forfeited Shares A/c 48,000
To Share Final Call / Calls in Arrears Alc 12,000
(1,200 shares forfeited for non-payment of final call)
Bank Alc Dr. 40,500
Forfeited shares A/c Dr. 4,500
To Share Capital Alc 45,000
(900 shares re-issued at 45 per share, fully paid up)
Forfeited Shares A/c Dr. 31,500
To Capital Reserve Alc 31,500
(Gain on 900 re-issued shares transferred to capital
reserve)
OR
Q. (b) Pushkar Limited invited..........
Ans. (b) Books of Pushkar Limited
) Journal
Date Particulars L.F Debit Credit
Amount | Amount
Q}) ®)
Bank Alc Dr. 16,00,000
To Share Application A/c 16,00,000
(Application money received on 40,000 shares)
Share Application Alc Dr. 16,00,000
To Share Capital Alc 9,00,000
To Securities Premium/Securities Premium 3,00,000
Reserve Alc
To Share Allotment A/c 2,00,000
To Bank Alc 2,00,000
(Transfer of application money on 30,000 shares to
Share Capital account, on 5,000 shares to Allotment
account, and of 5,000 shares refunded)
Share Allotment A/c Dr. 9,00,000
To Share Capital  Alc 6,00,000
3,00,000

[

+ e

w || =

marks

(3+3)

marks

OR

Yo
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(Money due on allotment on 30,000 debentures)

(Debenture application

money
debentures A/c and securities premium A/c)

transferred to

Bank Alc Dr. 6,86,000
Callsin Arrears  Alc Dr. 14,000
To Share Allotment A/c 7,00,000
(Money received on share allotment)
OR
Bank Alc Dr. 6,86,000 1
To Share Allotment A/c 6,86,000
(Money received on share allotment) +
Share Capital  Alc Dr. 30,000
Securities Premium/Securities Premium Reserve A/c Dr. 6,000
X 22,000 1
To Forfeited Shares A/c 14,000
To Calls in Arrears A/c/ Share Allotment A/c ’
(Forfeiture of 600 shares for non-payment of +
allotmentmoney) 1
Share First Call Alc Dr. 8,82,000
To Share Capital ~ Alc 8,82,000 +
(First call amount due on 29,400 shares)
Bank Alc Dr. 8,82,000
To Share First Call Al/c 8,62,000 o
(Money received on first call) =
marks
26. | Q. Pass necessary journal entries ..........c.........
Ans. Books of Shree Ltd.
Journal
Date Particulars Debit Credit
L.F
Amount | Amount
(X) (X)
(a)
Bank A/c Dr. 3,30,000
To Debenture Application and Allotment A/c 3,30,000
(Debenture application money received on 3,000 7%
debentures)
Debenture Application and Allotment A/c Dr. 3,30,000
Loss on issue of debentures Alc Dr. 15,000
To 7% Debentures Alc 3,00,000
To Securities premium/Securities premium reserve A/c 30,000
To Premium on redemption of Debentures Alc 15,000
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(b)
Bank Alc Dr. 2,20,000
To Debenture Application and Allotment A/c 2,20,000
(Debenture application money received on 2,000 8%
debentures)
Debenture Application and Allotment A/c Dr. 2,20,000
To 8% Debentures Alc 2,00,000
To Securities premium/Securities premium reserve A/c 20,000
(Debenture application money transferred to
debentures A/c and securities premium A/c)
(c)
Bank A/c Dr. 90,000
To Debenture Application and Allotment A/c 90,000
(Debenture application money received on 1,000 9%
debentures)
Debenture Application and Allotment A/c Dr. 90,000
Loss on issue of Debentures A/c Dr. 20,000
To 9% Debentures Alc 1,00,000
To Premium on redemption of Debentures A/c 10,000
(Debenture application money transferred to
debentures A/c)
OR
Debenture Application and Allotment A/c Dr 90,000
Discount on issue of debentures A/c Dr. 10,000
Loss on issue of debentures A/c Dr. 10,000 16
To 7% Debentures Alc 1,00,000
To Premium on redemption of Debentures Alc 10,000
(Debenture application money transferred to —
debentures A/c) 6
marks
PART B
OPTION-I
(Analysis of Financial Statements)
27. | Q. Which of the following...........
Ans(c) (i) and (iii) 1mark
28. | Q. (i) Which of the following equations......... 1mark
Ans (d) Cost of Revenue from Operations = Revenue from Operations — Gross Profit OR
OR
16
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Q. (ii) Which of the following is a tool ...........
Ans (a) (i) 1mark
29. | Q. From the following information,...........
Ans (d) ¥15,00,000 1mark
30. | Q. (i) ‘Dividend paid’............
Ans (c) Financing Activity 1mark
OR OR
Q. (i) ‘Interest received on investments’...........
Ans (a) Investing Activity 1 mark
31. | Q. Classify the following........
Ans.
Items Major head Sub-head
(a) Capital work in progress Non Current Assets | Fixed Assets
Alternatively,
Property, Plant and
Equipment and Intangible Y2 X6
Assets
(b) Calls in advance Current Liabilities | Other Current Liabilities
(c) Computer software Non Current Assets | Fixed Assets - Intangible
Assets
Alternatively,
Property, Plant &
Equipment and Intangible
Assets =
Note: Full credit to be given for writing only Intangible Assets or Fixed Assets under Sub- | 3
head of part (c). marks
32. | Q. ‘It is the process of identifying ................
Ans. Analysis of financial statements 1
Obijectives of Analysis of financial statements: (Any two)
1. to assess the current profitability and operational efficiency of the firm as a whole
as well as its different departments so as to judge the financial health of the firm.
2. toascertain the relative importance of different components of the financial position
of the firm. 1x2=2
3. to identify the reasons for change in the profitability/financial position of the firm.
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4. to judge the ability of the firm to repay its debt and assessing the short-term as well | =
as the long-term liquidity position of the firm. marks

33. | Q. (i) Calculate Gross Profit Ratio.........

Ans. (i)
Gross Profit ratio = Gross Profit x 100

Revenue from Operations

N~

Inventory turnover ratio = Cost of Revenue from Operations

Average Inventory

Cost of Revenue from Operations = 6 x 4,00,000

= %24,00,000
Gross Profit : 25% of Cost = 25/100 x 24,00,000 Y +
1+1+1
= %6,00,000 F Y=
4
Gross Profit Ratio  =__ 6,00,000  x 100 marks
30,00,000
= 20% %
OR
OR
Q. (ii) The Current Ratio..............
Ans. 2 ’
mar
(@) Current Ratio would reduce. for
Reason: Current assets as well as Current Liabilities would increase by the same effect
amount. and 1%
(b) Current Ratio would improve. mark
Reason: Current assets would increase, while current liabilities remain the same. for
(c) Current Ratio would not change. reason

Reason: Both Current assets and Current liabilities remain the same.

(d) Current Ratio would improve.
Reason: Current assets would increase whereas there would be no change in Current | 4
LlabI|ItIeS marks

34. | Q. Read the following hypothetical text and ......

18
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Ans.

Calculation of ‘Cash Flows from operating activities’
for the year ended 31st March, 2022

Particulars Details Amount
®) Q)
Net profit before tax and extraordinary items (2,11,000)
Add : Non-cash and Non-operating expenses : %
Depreciation on machinery 75,000
Interest on Debentures 24,000 99,000
Net profit before changes in working capital (1,12,000)
Add : Decrease in Current Assets and Y2
Increase in Current Liabilities :
Decrease in Inventories 33,000
Less : Increase in Current Assets and
Decrease in Current Liabilities:
Trade Payables (42,000)
(9,000)
Cash generated from operations (1,21,000)
Y5
Less : Tax paid (80,000)
Y2
Net cash outflow/used in operating activities (2,01,000)
s | | 5
+
Dr. Provision for Tax Alc Cr.
Particulars ® Particulars ®
To Bank Alc 80,000 | By Balance b/d 2,10,000
To Balance c/d 2,04,000 | By Statement of Profit & 74,000 1
Loss
2,84,000 2,84,000 +
Working Notes :
Calculation of net profit before tax :
19
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)
Net Profit (2,85,000) .
Add provision for Tax 74,000 _/2
(2,11,000) 6
marks
(Note: Full credit to be given if the examinee has taken interest on debentures as
% 18,000 and consequently, net cash outflow/used in operating activities has been
calculated as ¥2,07,000)
PART B
OPTION-II
(Computerised Accounting)
27. | Q. When the accumulated data...............
1 mark
Ans. (b) Batch processing
28. | Q. (i) The name of accounting.............
Ans. (c) Costing sub-system 1 mark
OR OR
Q. (ii) The process of comparing..............
Ans. (a) Data validation 1 mark
29. | Q. (i) The need of codification.............
Ans. (¢) The encryption of data. 1 mark
OR OR
Q. (ii) Which of the following...................
Ans. (d) Generic 1 mark
30. | Q. The outcome of an arithmetic............
20
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Ans. (a) Derived Value 1 mark

31. | Q. Explain ‘Group of Accounts’..............

Ans. Group of Accounts is a method of organising the large number of ledger accounts
into sequential arrangement for recording and summarisation of accounting data.
In accounting software the pre-defined groups and these existing groups cannot
be altered. In the account groups there are 28 pre-defined groups, out of these
groups 15 are primary groups and 13 are sub-groups.

Primary groups : It is a basic grouping of the set of sub-groups into major account
heads according to their listing in Balance Sheet and P/L Alc.

Sub-group : It is a set of accounts opened in the ledger of recording of related transactions. 3
marks
32. | Q. Explain the methods.................

Ans. Voucher numbering can be in two ways :
Manual and Automatic

With appropriate explanation 3
marks
33. | Q. (a) What is ‘data formatting’.................
Ans. (a) The use of following formatting tools to make the reading spreadsheet
understandable is known as Data Formatting. 1
+
Following tools with appropriate explanation :
. Number formatting 1+
. Currency 1+
. Percentage .
. Dates ot
Y
OR =
Q. (b) List eight uses............... 4
marks
Ans. Following are the eight uses of accounting software: (Any eight) OR
21
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1) Do all the basic accounting functions
2 Manage stores
3) Do the job costing
4) Manage payroll
5 Get MIS reports
) p Y5 X8
(6) Fill tax returns, prepare balance sheet and profit and loss statement, VAT a
form, TDS returns etc.
@) Manage, maintain budget scenario. 4
(8) Manage data over different locations and synchronize it. marks
(9)Calculate interest on pending amount.
34. | Q. What is meant by........cccceennene
Ans. Present value is the total amount that a series of future payments is worth now.
The financial function which helps in its calculation is known as PV.
Its syntax is
PV (rate, nper, pmt, fv, type)
Where
Rate : Interest rate per period.
Nper : Total number of payment periods in an annuity.
Pmt : The payment made each period and connot be changed over the life of
annuity : Typically pmt includes principal and interest but no other fees and
taxes.
FV:  The future value, or a cash balance to attain after the last payment is
made.
Type: is the number O or 1 and indicates when payments are due. The fv and type
arguments are optional. 6
marks

* % k
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